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1 RROMETIE A LLFOEBOHEY T LD TEET S,

(2x+4) + (5x+1) (—4x+3)+ (Bx—2)
=2x+4+bx+1 = —4x+3+5x—2
=2x+bx+4+1 = —4x+5x+3—-2
=7x+5 =x+1

\_ J
KostiE L 5,
O (3Bx+2)+ (4x+7) @ (6x+5)+ (2x—3)
® (8x—6)+ (4x+2) @ (7x+9) + (5bx—2)
® (3Bx+5)+(-2x—7) ® (6x—8) +(—2x+4)
@ (—b6x+1)+ (8x—7) (—6x—3) +(—4x-5)
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1 RA DX \

1 RAOMETIH A EULFOE BOE2F LD TEHET 5,
(2x+4) + (5x+1) (=4x+3) + (5x—2)
=2x+4+5x+1 =—4x+3+0bx—2
=2x+bx+4+1 =—4x+5x+3-2

=7x+5 =x+1
\_ J
KOFHE L% S0,

DO (Bx+2)+ (4x+7) @ (6x+5)+ (2x—3)
=3x+2+4x+7 =6x+5+2x—3
=3x+4x+2+7 =6x+2x+5—3
=7x+9 =8x+ 2

® (8x—6)+ (4x+2) @ (7x+9) + (5x—2)
=8x—6+4x+2 =7x+9+5bx—2
=8x+4x—6+2 =7x+b5x+9—-2
=]12x—4 =]12x+7

® (3Bx+5)+(-2x—7) ® (6x—8) + (—2x+4)
=3x+5—-2x—-7 =6x—8—2x+4
=3x—2x+5—-7 =6x—2x—8+4
=x—2 =4x—4

@ (—b6x+1)+ (8x—7) (—6x—3) +(—4x-5)
=—b5x+1+8x—7 =—-—6x—3—4x—-5
= —b5x+8x+1—-7 =—6x—4x—-3—-5
=3x—06 =—10x—8
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